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1.

Frame equations for the given statements:

S.No.Statement Equation

(a) |4 subtracted from 7 times a gives 32.

(b) [3is 7 more than two-fifth of y .

(c) [The number b divided by 5 gives 6.

(d) 8 times a number z is equal to three more than 5 times

the same number.
(e) 3 less than 4 times a number p is 5 more than twice the

same number.

[5 marks]

(a) When 4 is subtracted from 7 times a, you get 32
7a-4=32
[1 mark]

(b) 3 is 7 more than two fifths of .
2 -

(o723

[1 mark]

(c) The number b divided by 5 gives 6.
b

-=06

5

[1 mark]

(d) 8 times a number z is equal to three more than 5 times the same
number.

8xr=3+5x

[1 mark]

(e) 3 less than 4 times a number y is 5 more than twice the same number.
4p-3=5+2p
[1 mark]
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2. Solve the following equation by trial and error method:
3m-14=4
[2 marks]

Solution:

Puttingm=3inL.H.S,3(3)-14=9-14=-5
+-5# 4, m= 3 is not the solution.

Puttingm =4inL.H.S, 34)-14=12-14=-2
-2 %4, m =4 is not the solution.

Putting m=5in L.H.S, 3(5)-14=15-14 =1
.+ 1£4, m=5is not the solution.

Puttingm=6inL.H.S, 3(6)-14=18-14=4
‘+4 =4, m =6 is the solution.
[2 marks]

3. Find the value of 'q' in the equation, %+ 7 =5, using the method of balancing.
[2 marks]

Solution:

Subtract 7 from both sides.
%+ 7=5
#*7-7=5-7

= -2

N IS

[1 mark]

Multiply 4 on both sides.
%x 4=2x4
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Solve the following equation using the method of transposition:
16=4+3(t+2)

[3 marks]

In the method of transposition, we transpose the variables to one side

and the constants to the other side. Then, we will simplify the
expression and solve for the variable.

16=4+3(t+2)

Step 1: Transpose the variable to one side and the constants to the other
side.
44 3(t+2) =16
=3(t+2)=16—4
(16 — 4)
3

16 — 4
e

=>t42=

[2 marks]

Step 2: Simplify the expression and solve for the variable.
(16 — 4)
3

_ 12 2=4-2=2
=5 -2=4-2=
t=2
[1 mark]
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5.  What does a duck do when it flies upside down?
The answer to this riddle is hidden in the equation given below:
If i + 69 = 70, then i =7
If 8u = 6u + 8,then u =?
If 4a = —5a + 45,then a =7
If 4g+ 5 = 17,then q =7
If —5¢ — 60 = —70, then t =7

1

If Zs + 98 = 100, then s =7
5

If gp—{— 9 = 24, then p =7

If 3¢ = ¢+ 12,then ¢ =7
If 3(k + 1) = 24, then k =7
For riddle answer: substitute the number for the letter it equals.

[5 marks]
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Step 1: Find the value of each letter
Given: i + 69 = 70
=i=T70—-69=1

Given: 8u = 6u + 8
= 2u =28

8
= :—:4
YT

Given: 4¢ = —5a + 45
= 9a = 45

45
=a=—=295
9

Given: 4¢+5 =17

=4¢g=17-5=12

=q= 12—3
==

Given: —5t — 60 = —70
= —5t=-T70+60=-10

—10
St=——=2
5

. 1
Given: Zs+98: 100
:1 =2

Zs_
=s=28

5
Given: gp +9=24

5
= p=24-9=15

315 3
X
p— :9
P="5
Given: 3¢ =c+ 12
= 2c =12

12
c=—=26

2

Given: 3(k+1) =24

24
:>k—|—1:?:8

=k=8-1=7

Hence the values are:
i=1lu=4,a=5,q=3,c=6,r=8p=9c=6,k="7
[9 x 0.5 marks]
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Step 2: Substitute the values

[0.5 mark]

6. If a number is multiplied by 5 and 5 is added to it, then the result is equl to 50.
Find the number.
[2 marks]
Let the number be z.
According to the question,

5xx+5=050
[1 mark]

5xx=50-5
5 x x =45

r =45=+5

r =9

[1 mark]

7. Set up equation and solve it to find the unknown number in the following case:
Anwar thinks of a number. If he takes away 7 from gof the number, the result
is %

[3 marks]

Solution:

Let the number be x.
According to the question,

11
To1=7
[1 mark]
5 11
5 11+14
= ® =
Lo
F =2
25%2
= bz = ;
= b5x = 25
N}
=3
==
[2 marks]
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8. The perimeter of a rectangular swimming pool is 64m. If its length and breadth
are in the ratio of 5 : 3, find the length of the pool.
[3 marks]

Perimeter of swimming pool = 64m (Given)

We know that,
Perimeter = 2(length + breadth). Since length and breadth are in the ratio

53,
length = 5x and breadth = 3x
[0.5 mark]

Substituting in the formula for perimeter, we get
64 = 2(5x + 3x)
8x =32

x=4
[2 marks]

Length of the swimming pool = 5x = 5x4 = 20m
[0.5 mark]
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